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LOGARITHMS

Wb Jee Workout Category 1 Single Option Correct Type

1. The value of log, (216,/6)is equal to

| © N N ot | w

Answer: C



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dXVDFhgZMsbB

L = vvailln viaco S0Iution

logg 17 log, 517

2.The value of —
log, 23 log; 23

is equal to

A.O

B.1

17

23
17

Answer: A

o Watch Video Solution

1 logh 1
B4 = 2= = B thena

— b+ec bc+a
b—c c—a a —

a+b_

C

Al

B.2


https://dl.doubtnut.com/l/_dXVDFhgZMsbB
https://dl.doubtnut.com/l/_sVDQRKM0w5BH
https://dl.doubtnut.com/l/_4OG8gwEU2Ueo

D. None of these

Answer: A

° Watch Video Solution

4. If (log),,2 = 0. 30103, (log),,3 = 0. 47712, then find the number of
digits in 3'2225.

A7

B. 1

C.9

D.10

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4OG8gwEU2Ueo
https://dl.doubtnut.com/l/_j97bcOjuahJR

5.if a®> + 4b> = 12ab, then log(a + 2b)

1
A.E[Ioga+logb-log2]
B.lo ﬁ4—10 2+Io 2

1
C.E[Ioga+logb+4log2]

1
D.E[Ioga-logb+4log2]

Answer: C

° Watch Video Solution

]'Oga(a'b) + log, (ab) =1

A.O0
B.1
C.log ab

D. None of these


https://dl.doubtnut.com/l/_TYhWmO33rGNw
https://dl.doubtnut.com/l/_7HLXd3H162Sb

Answer: A

° Watch Video Solution

7.1f logs x log, 3log, y =5, then x =

C.32

D. None of these

Answer: C

° Watch Video Solution

8.1f log,, 2 = 0.030103, log;, 50 =

A. 230103


https://dl.doubtnut.com/l/_7HLXd3H162Sb
https://dl.doubtnut.com/l/_ZRhcYgKR7t9M
https://dl.doubtnut.com/l/_21I0Mq8p4P1C

B. 2.698987

C. 1.99897

D. 0.69897

Answer: C

° Watch Video Solution

9.If log;s z + log, « + logy x = 14, then x =

A.16

B.32

C.64

D. 256

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_21I0Mq8p4P1C
https://dl.doubtnut.com/l/_eAFwfpLtdG2J
https://dl.doubtnut.com/l/_684Hjv77M941

10.1f a, b ¢, are in G.P, then log, n, log, n, log. nare in

A AP

B. G.P.

C.H.P.

D. None of these

Answer: C

° Watch Video Solution

1 1
T =
log, = log, logy =

1Mm.If then a, b, c, are in

A AP

B. G.P.

C. H.P.

D. None of these


https://dl.doubtnut.com/l/_684Hjv77M941
https://dl.doubtnut.com/l/_YAWF9s2LLz7f

Answer: B

° Watch Video Solution

12.1og;o tan1° + log;, tan2° + .... + log;,tan89° =

A.O

B.1

C.2

D.3

Answer: A

° Watch Video Solution

13.For y = log, x to be defined 'a’ must be

A. any + ve real number


https://dl.doubtnut.com/l/_YAWF9s2LLz7f
https://dl.doubtnut.com/l/_a0XbD26fwrrL
https://dl.doubtnut.com/l/_DHGdpFa09qc8

B.any number
C. > e

D. any + ve real number # 1

Answer: D

° Watch Video Solution

14.1og; 7 5is equal to

w
| = W= w|

O
N

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DHGdpFa09qc8
https://dl.doubtnut.com/l/_2OqwSJ3xSxm7
https://dl.doubtnut.com/l/_L3n47k9rqg7T

10 81
15.7 |0g ? —+ 310g% =

A 4log3-2log5-5log?2
B.3log4-5log2-2log5
C.4log 5-2log3-5log 2

D. none of these

Answer: C

° Watch Video Solution

1 1
16. Given that log, * = o log, z = _5 and log, z = — Then find log,;,.
7

Aa+B+7y

B.afy

1
cC.————
a+B+vy

D. None of these



https://dl.doubtnut.com/l/_L3n47k9rqg7T
https://dl.doubtnut.com/l/_FHYCEfijiTzE

Answer: C

° Watch Video Solution

17. If (log),,2 = 0. 3010 the value of (log),,25 is 0.6020 b. 1.2040 c.

1. 3980 d. 1. 5050

A 15
B.1.2
C.1.34

D. none of these

Answer: A

° Watch Video Solution

43

) “—, log, n


https://dl.doubtnut.com/l/_FHYCEfijiTzE
https://dl.doubtnut.com/l/_Fl0iMe5y0y9p
https://dl.doubtnut.com/l/_Zl4wwxdr2Mq1

A.log, 43
B.logys3n

C.logysn

1

D.——
10g43! n

Answer: D

° Watch Video Solution

19. Given log;, 343 = 2.5353, the least integer n such that 7" > 101 is

A.10

B. 1

D.13

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Zl4wwxdr2Mq1
https://dl.doubtnut.com/l/_H3JQiioLre6e

20.For z > 1, the minimum value of 21log;,(z) — log,(0.01) is

A.10
B.2
C.01

D.4

Answer: D

° Watch Video Solution

1—ab .

21. If a = log,,; 175 and b = log,.;; 875, then the value of is

a_

A7

B.5


https://dl.doubtnut.com/l/_H3JQiioLre6e
https://dl.doubtnut.com/l/_XDEzv1xXURnc
https://dl.doubtnut.com/l/_q7sgUFJTQfQJ

Answer: B

° Watch Video Solution

22. If logy logs logz * = 0, then value of x is

A. 243

B. 125

C. 625

D. 25

Answer: A

° Watch Video Solution

1 1
23.Find the value of < + )
log, 12 log, 12


https://dl.doubtnut.com/l/_q7sgUFJTQfQJ
https://dl.doubtnut.com/l/_TVGggpx70XRk
https://dl.doubtnut.com/l/_h4jH3UqyWoj3

A.O

B.1/2

C.1

D. 2

Answer: C

o Watch Video Solution

log. 5 x 1 27 x 1 7
24, The value of 83 %825 %19 is
10g81 3

Al

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_h4jH3UqyWoj3
https://dl.doubtnut.com/l/_QfwB7AgLvq4S

25.If log, 2 = A, then the value of log,,(28) is

A(2)+1)
B. (2A + 3)
c%mx+n

D.2(2\ + 1)

Answer: C

° Watch Video Solution

26.1fa = log, 5and b = log, 6, then log, 3 =

A1l — 2ab
B.1 + 2ab

C.2ab—1


https://dl.doubtnut.com/l/_QfwB7AgLvq4S
https://dl.doubtnut.com/l/_4vFqdyzYXkiN
https://dl.doubtnut.com/l/_e4kzur7GwJ63

Answer: C

° Watch Video Solution

27. The minimum value of 2(18:3) cos’z 3 (logs2)sin’@ ¢

A. 210g6 \/E
B. 38 V2
c.ol+t logs /3

D. 21 —logg /3

Answer: C

° Watch Video Solution

28.1f log;527 = a, then logg16 =


https://dl.doubtnut.com/l/_e4kzur7GwJ63
https://dl.doubtnut.com/l/_D5brccTWPPJi
https://dl.doubtnut.com/l/_a8wBB6PuTmzn

Answer: C

o Watch Video Solution

29. The number of solutions of the equation

108 (5, + 3 (62 + 23z + 21) + log (3, , 7) (42” + 12z + 9) = 4is

A.O
B.1

C.2

Answer: B



https://dl.doubtnut.com/l/_a8wBB6PuTmzn
https://dl.doubtnut.com/l/_DIpjsiSTySIJ

| ° Watch Video Solution

30. If (logs K)(logz 5)(logy, ) = k, then the value of x if k=3 is

A. 20
B.24
C.27

D. 29

Answer: C

o Watch Video Solution

Wb Jee Workout Category 2 Single Option Correct Type

1. If x =log,bc,y=log,ca, z=1log.ab, then the value of



https://dl.doubtnut.com/l/_DIpjsiSTySIJ
https://dl.doubtnut.com/l/_QkCipK99R0S6
https://dl.doubtnut.com/l/_rr6lj7i08GnA

Az +y+=z

B.1

C.ab + bc+ca

D. abc

Answer: B

o Watch Video Solution

2.1f log(z® — 16) < log,(4z — 11),then

Ad<z<5H
Bx< —4orzxz>4
C-1<z<5H

Dz < —lorzxz>5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rr6lj7i08GnA
https://dl.doubtnut.com/l/_Tsvk9qxCYWrn

3. If

x = log,b + log, ¢, y = log, c + log,a, z = log, a + log, b, thenz? + y* + 2

A — Xxyz
B. xz +y
C.xy+z

D. xyz

Answer: D

° Watch Video Solution

4. f a > 0,c >0, b =,/ac and ac #1, N>0 , then
log, N — log, N
logy N — log, N

log, N
" log, N



https://dl.doubtnut.com/l/_Tsvk9qxCYWrn
https://dl.doubtnut.com/l/_lkbvKCetOr8F
https://dl.doubtnut.com/l/_b3e8Vgwzywpr

log N
“logC
log N
loga

D. none of these

Answer: A

° Watch Video Solution

1 1 1

. +
log,e  log,e?  log,et

A.2log, 2

B.log, 3

C.log,2

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_b3e8Vgwzywpr
https://dl.doubtnut.com/l/_Np00J2VBCTlU
https://dl.doubtnut.com/l/_g1ZRpADwTyyw

C.1

D. none of these

Answer: C

° Watch Video Solution

7.1fx=1+log, bc,y=1+1log, ca,z=1+log, ab, then xy + yz + zx =

AXx+y+z
B. xyz
1
cC —
TYz

D. none of these



https://dl.doubtnut.com/l/_g1ZRpADwTyyw
https://dl.doubtnut.com/l/_0fKK5frn0vgp

Answer: B

° Watch Video Solution

8.If log, (m4y) = a and log, (:1:2y2) = b, then log, ,/y in terms of a and b

is

2b+ a
2
2b — a
7
2b — a
6

D. none of these

Answer: C

° Watch Video Solution

9.1f logs(3 + x) + logs(8 — =) — logz (9 — 8) = 2 — logz 9, then x =



https://dl.doubtnut.com/l/_0fKK5frn0vgp
https://dl.doubtnut.com/l/_ZUnpbLnnhB44
https://dl.doubtnut.com/l/_sVgCue6CRlC0

A 4

B.—4

C.—-8

D. none of these

Answer: A

° Watch Video Solution

b
10.1f a® 4+ b* = 7ab, then log <i) equals

3
1
A.E(a—b)
1
B.E(Ioga+logb)
1
C.Eloga+logb

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sVgCue6CRlC0
https://dl.doubtnut.com/l/_7l6A522zLWo6

11. The value of log ab — log|b| =

A.log a

B. log |a|

C. —loga

D. none of these

Answer: B

° Watch Video Solution

12.If 3 log,, (:v2y) = 4 + 2log,, ¢ — log,, y, where x and y are both + ve,

and x -y = 2,/6, then the value of x is

A4+ ./6
B.4— /6
C.,/6


https://dl.doubtnut.com/l/_7l6A522zLWo6
https://dl.doubtnut.com/l/_V0tcUzE2KFNE
https://dl.doubtnut.com/l/_qbjQJMZjZ3ur

D. none of these

Answer: A

° Watch Video Solution

13. If ]'Ogl() Xr — loglo \/_ —

.The value of x is
lOglOw

A 1073

B.10 2

C. —
10

D.10

Answer: B

° Watch Video Solution

14.1f a=log,, 12, b = log,, 24, c = log,g 36, then 1+ abc is equal to


https://dl.doubtnut.com/l/_qbjQJMZjZ3ur
https://dl.doubtnut.com/l/_GlymqUawhKTL
https://dl.doubtnut.com/l/_XNDNMHXaGMUD

A.2 ac

B. 2bc

C.2ab

D. none of these

Answer: B

o Watch Video Solution

15. Evaluate; 811/108:3 4 o7log, 36 4 34/log,9

A. 49
B. 625
C. 216

D. 890

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_XNDNMHXaGMUD
https://dl.doubtnut.com/l/_H7I1k8XvtX3o

Wb Jee Workout Category 3 One Or More Than One Option Correct Type

1.Iflog, 2log: 2 = log= 2,then x=
16 64

A48
B.2,4
C. 8,16

D. none of these

Answer: A

o Watch Video Solution

a—2b .
is

2.1flog;, m=aand log;s m=b , then 5
— 2a

A.log, 3

B.1


https://dl.doubtnut.com/l/_H7I1k8XvtX3o
https://dl.doubtnut.com/l/_DciQEpE8FEkD
https://dl.doubtnut.com/l/_qEyq7rMcntfd

C.log; 2

D. none of these

Answer: C

o Watch Video Solution

3.1f 2logg N = p,log, 2N =q,and q -p =4, then the value of N is

A. 502

B. 512

C. 416

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qEyq7rMcntfd
https://dl.doubtnut.com/l/_wup2JjSr0Ldy

1 1
4. Ify=a' " z = @' "%, then x will be

1
A‘ a 1-log, 2

B.log,,-
1

C a 1+log, 2

D. none of these

Answer: A

o Watch Video Solution

5. Solve the equations for  and y: (3z)"¢*

<
I

Czx =

w
8
Il
B = W= W=
N N
I Il
N N R

D. none of these

_ (4y)10g4’ glogz _ glogy



https://dl.doubtnut.com/l/_bAP9ieC59cKA
https://dl.doubtnut.com/l/_DHPIjRFsW4A4

Answer: B

° Watch Video Solution

6.164% — 3%~ 3 — 3T+y _ 92 —1

Answer: D

° Watch Video Solution

Z

7. Value of x, satisfying gabga(m) - (logyy (@) -log,(5) ) — 5510 (55) — ghmon(e) + oy 2

is :



https://dl.doubtnut.com/l/_DHPIjRFsW4A4
https://dl.doubtnut.com/l/_XhZpoRlfa3XM
https://dl.doubtnut.com/l/_XSVmiUUuoIWo

A.log,100

B. log, 1000

C. 1000

D. 100

Answer: D

o Watch Video Solution

8. If

1+3+5+.... uptonterms 20
44+ 7+10+... uptonterms 7 log,x

15
2

and n = log;qz + log;y =

, then x is equal to

A 10°

B. 10°

C. 106

D. 107


https://dl.doubtnut.com/l/_XSVmiUUuoIWo
https://dl.doubtnut.com/l/_UIPe4k48RE7Z

Answer: B

° Watch Video Solution

9.1fa > 0, 2log, a + log,, a + 3log,., a = 0then x=

A.al/2

B.ofl/2

C.a_2/3

D.a_4/3

Answer: B::D

° Watch Video Solution

10.1f log,|4 — 5z| < 2, thenx €

o)


https://dl.doubtnut.com/l/_UIPe4k48RE7Z
https://dl.doubtnut.com/l/_SAdZUlMWBUF9
https://dl.doubtnut.com/l/_Kr3h6voheDBH

Answer: B::D

° Watch Video Solution

Wb Jee Previous Years Questions

1. The number of solutions of the equation
%logﬁ(z—:) +logy (¢ +5)* =1is
A.O
B.1

C.2

D. infinite


https://dl.doubtnut.com/l/_Kr3h6voheDBH
https://dl.doubtnut.com/l/_SFPFwknTYu4E

Answer: B

° Watch Video Solution

2. If a, b and c are positive numbers in a GP, then the roots of the

quadratic equation (log, a)? — (2log, b)z + (log, ¢) = 0 are

log, ¢

A.—1 and
log, a

log. ¢
B.1 and — S

log, a

C.1 and log,c

D.—1 and log,a

Answer: C

° Watch Video Solution

3. The number of digits in 20°" (given log;, 2 = 0.3010) is


https://dl.doubtnut.com/l/_SFPFwknTYu4E
https://dl.doubtnut.com/l/_kOxtdhLFVH8U
https://dl.doubtnut.com/l/_wINGbXl5R9Lc

A. 602

B. 301

C.392

D. 391

Answer: C

o Watch Video Solution

4.The solution of the equation
logy; logr (v + 7+ /z) =0'is
A3
B.7
C.9

D. 49

Answer: C



https://dl.doubtnut.com/l/_wINGbXl5R9Lc
https://dl.doubtnut.com/l/_5SDEO4V7clMi

| ° Watch Video Solution

5.1f logyo(z — 1) > logy os(z + 5) then

A-1l1<z<4
B2<xz <3
Cl<zxz<4

Dl<x <3

Answer: C

° Watch Video Solution

6. If x is a positive real number different from 1 such that

log, z, log, x, log, x are in AP then

a-+c
2

B.b = ,/ac

Ab=



https://dl.doubtnut.com/l/_5SDEO4V7clMi
https://dl.doubtnut.com/l/_apfnjXTFN0vF
https://dl.doubtnut.com/l/_ucAQk6XrJhdb

C.& = (ac)&?

D. none of (a),(b) , (c) are correct

Answer: C

o Watch Video Solution

7.1flogy 3(z — 1) < logygg(z — 1), then x lies in the interval

A. (2, 00)
B.(1,2)
C.(-2,1)

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ucAQk6XrJhdb
https://dl.doubtnut.com/l/_7f7N0Z1jWCDl

8.1f (logs z) (log, 3x)(logs, y) = log, z* then y equals
A. 125
B. 25
C.5/3

D. 243

Answer: A

o Watch Video Solution

9.1f x + log;((1 + 2%) = xlog;( 5 + log;, 6, then the value of x is

>

w
W= =

D. 2


https://dl.doubtnut.com/l/_7PUmXp2Y6It8
https://dl.doubtnut.com/l/_c9UN64zsyxRF

Answer: C

° Watch Video Solution

1
10. If log, 6 + 9 log, (21/”3 + 8), then the values of x are

>

A= =

w
N = W

(@)
|
NG
N =

O
w| =
|
|

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_c9UN64zsyxRF
https://dl.doubtnut.com/l/_A6pbQemnlUil

